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The rectangular block shown rotates about the diagonal OA with a

constant angular velocity of 6.76 rad/s. Knowing that the rotation 1s

F

counterclockwise as viewed from A, determine the velomty and accel-
eration of point B at the instant shown
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The sprocket wheel and chain shown are initially at rest. If the wheel
has a uniform angular acceleration of 90 rad/s* counterclockwise,

determine (a) the acceleration of point A of the chain, (/) the magni-
tude of the acceleration of point B of the wheel after 3 s.
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